EX 9 pg. 58 #’s 1, 4, 5

1 - is in substantive position and is nominative…so 3d personal pronoun “he.”  Strip verb of those peculiar recognition points (augment, sigma, ending) to reveal 
4 – we finally have a present indicative active again!   don’t look like they agree but they do, because “way” is a feminine noun of the 2nd declension.

5 - agrees with in gender, number, and case.  So what position is in?        Try predicate……..so………. “And the lord of peace himself…”

